

Name _______________________


ALS - 18
Lecture 18:  Tree Traversal
A tree can represent a decision _____________________.
To traverse a tree is to ____________________________________
When traversing a tree, why do you visit a vertex? ____________________________.
In any tree traversal, we want to make sure that ______________________________
A preorder traversal first __________________________, then __________________________, then __________________________.
A preorder traversal of the tree below, where “visit” means “print”, displays _______________________


An inorder traversal first __________________________, then __________________________, then __________________________.

An inorder traversal of the tree above, where “visit” means “print”, displays _______________________
A postorder traversal first __________________________, then __________________________, then __________________________.

A postorder traversal of the tree above, where “visit” means “print”, displays _______________________

An encoding translates a string into __________________________________
Instead of a fixed length code, a Huffman tree uses _______________________________
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